Mo izt

J]

—. FOiR YT

=z
(o |
il BT {
@ fﬁﬂ?%ﬁ?
(B
rﬂ o] R
77 ) 73
&
8] (775 { S
Ul -y

—. CIEmE

L 48 R F0 03 07 R 0 B0 O [ 28 5l o0 O R 2 R R PR Y.

2 2
(D %:412_3’; 2) 31‘2}—(%> +122y=0;
d z d P d2 d )
(3) (ﬁ) +x ﬁ*SyZ:O; 4 xd;;*S ﬁ—}—&ry:smx;



®
(5) 92 cosy+20=0; ®) sin(93)+e =
dr cosy x ; Sln(dIZ e’ =_x.
g (D) —Brs&tEn; (2) Z B s AL (3) —Br; AR 5
(4) B s RAMER (5) — B s AR (6) B ARk,

2. y=sin %%1}%%7‘7*%
2y +2xy + ity =0
MIfENS 2 FEAE A5 T IE? TP AR T AR it

ik ﬁﬁﬁﬁlﬁ@ﬁ?;‘:ﬂl =0 B}, BRECE A B S, T BE WA 343 T 12 04 fie
E{WEIZI%I 2757275&(1-5—1 Yy F4xy +2y=0 F.

1 —2x
ﬁ” HE] _ 1 /7d<1+12): —2x //:d((1+12)2)7 61 *2 ﬂ:
YT dx A+a2?2"7 dr A+ 1
2y / _ 2y 628 —2 —2x 1
A4+2Dy +day +2y = U+ 29 ar. 2)3+ x (1+12)2+2]+12 0,

FIF LB 8y — j&xz%iﬁﬁﬁﬁ;(lﬂz>y”+31y’+2y20E’Jﬁ’q’:.

4 WEM o+ 3xy’ =1 BB MK BOR TR 2oy Sy =0 FEK AL (0, D) I
it
B AOTR 2 sy =L B o RS 92 by Sy =0, 20y Pkt
¥ =0, SRR o 3y’ =1t YIRS 0,10, 1% 2 =1 0 y= 0. {H y=0 A J2 )
B 2y Pty =0 M BT ' By — L BT K BRI T B 2y 2
=0 7EX[H] (0. 1) L [y fi.

5. WMV [+ [y =0 F —A i AB R IE |y |+ 1=0 HA B,

) , [y =0 \

B iy =0 ] o T Y0 B =0 SRR G — S 1 S
GRfRTPH&SH —MEE®EE.

Ly | 1=0 18]y | =— 1,3 J& A ] RE 10 . DRI I TG i

6. JF A y=<x+c>2<c%ﬂ BEBOR M RG)?—4y=0 B y=0 2%
TR EE .

iERA W y—(x+c‘) M,y =2(z+c), FTROGD—4y=4(x+)?—4(z+)?=0,y=
(xt+o)* BARMME. I H56 —MEEF B o, F I8 .



B1E WoOHEMLE 5
WAR . y=0 W% T T5 B W i B 0 5 A T g b CEDR BBl G o A9 BROMEDR 15 213X
A
7. BE—W TR
(1) 3R H e A 38 % 5
(2) SR I A (L 4) B R 5
(3) SR G HZ y=22+3 VISR

~1
C4) SR G 4 Joydx — 2 ffit
(5) 2R (2) . (3) (D EIE.

dy
dx

=2x,

(D Elag—i=2x,1%@ﬁﬁ y=x"tc,c MR

(2) Y o=1H,y=1+c=4.1 c=3, WS y=2"+3.
(3) Z S HZ v=22+3 Y, 0] T 2* +c=22+3 AP Bl A=4—4(c—
D=0,c=4,15HN y=2"+4.

o1
03

1 1 3
(4)J ydx = J (2" +o)dx = (%Jrcx')

(5) Kl

(2

“




N

tr

M5 AR E

— . BERBS5REROEMXR

FALES Ry
S A

| semn ] epah | SR |

—. TIREE

Lo A0 5l 57 AT 4 T o £ 0 T 1) Bl o O R

(1) e EAR R — s DR 5 32 0 B8 ) A 22 T B4 e ) ol 2

(2) hEe DAR R — s B DI A T 9 A A A 22 18] B 3 20 25 T K as

(3) M EAT R — AR U255 W A o il BT LA 99 = A T B T AR 45 T 0 A
(4) fh 2 AR R — s B DI A T 19 A A Al 22 1] F) 75 23 1 U0 A 55 0 5

(5) R EAT R — U DR B8 AR 25 T D) s AL AR 1) F- T 5

(6) £k b AT B — A B D) 2R A0 AU 2 U0 B0 A B T AL A Y 25 22 v 30
(7) R PAT 5 — AR DR 2R R 15 0 B9 A A o JRCIE L

i u>ﬁm*m%ﬁ@wy:ﬂww%%&ﬁ%i&%ﬁuxwﬁwﬁmﬂﬁgﬁ



BT W TIERE

SEVLElRa et S E N

Q—‘CL
NI

TR 2 T SR £ il A2 1 gy O R
G SR R 2 9 R 2 AT R B0 U0 R % R B AR 2 T e Ol o I RO T R
) o [ 7S

/

~{
=

UEE)

_ _ _ tanf— tany
ta =1 = .
ana an(g—7) 1 + tanptany

= tanﬁZ% stany = jﬁ TFRA

v dy ,
tang — % dx  _ y— zy &y = y— 1‘tana.
vy dy x4 yy x + ytana
14+ =« ==
xr dx

(2) PEPTR AT BEA vy o) W 2R B R A8 () AR 225

Y —y= 7y (X—a.
WeYIZe ' Ry BRSSO A (£ 0 ) B B y— oy B A LB AU )
BT a, B

’r_ 2
(713}3}/ y) + (xy’ — ) = d°.
T AR T SR Lt B g T AR
(3) MR IJFFH SR A
1lay —y Y
2‘ v ‘lxy yi=4%
TR SRy T AR R Sy
_J _ / _ 2
‘(.T y/)(y fy)‘ 2A%.

4 MO y=y (O FEAEE A (o ) BT S « BhA y B0 52 5020 50

A (M0 )M By HUBLRE A G )y AL B T S Y 148 B



_ay —y y— y—ay'
Zy/ b 2 .

X

b Ri1s vy =0, ILEI R Bk,
(5) MDA, ML y=y(@) AR A (2. ) MY AE v 3 EREEE N | y— 2y
H A A
[y | = 2
1 7 R B A TSR
(6) MR (OHNL ML y=y(@) FEERE A (2. ) A YIRAE v 4 EPEEE N | y—2y" [
A A

xr+y
2 b

| y—ay' | =
BI FroR TR A 2| y—xy | =2+ .
(7) MRS R T REED N v =k Horp b R HO )RR
2. A HCem) BEBRIE A4S CA0 T B AT - KN E B R /N FL A Y /N FL A 85 488 i
BRI SCem®) , FF 4R I 25 28 B 7K L 1] 8 22 /D i [A] 7K R 52 2

h
< [ S -l
TS
\% 7 =
h+Ah
u(t)
YIS

i KOAAL F0 i H 0 O e R 3 L R AT Y K B PR R VX i T ¢ Y A2 A 5O AT TR
1IN Vg )
dV = Su¢/2gh dt
b, i RS AL DR I AL o S I B L B S K B g/ 29D R A
Ui H Y A
I3 —J5 T /N E G S K B PR R 5 2 BR A g oK R e AR K B PR BRAR 25, ED

dV = nr'ah =—n(o/H” — (H—h)?) dh =— x(2Hh — h*)dh
i L E WA TG
Spe/28hdt =— n(2Hh —h*)dh, h € [0.H].,

Su¢/2gdt =— x(2HRT —h*)dh. h € [0.H].

Spe/2gt =— 2Hr %hi +n%h% 1C



$oZE WHHEER
2 =0 I AT b= H .7 L c=%nH% TR

| (2 ,gfﬂnh%ju%m%).

- e A5 T3
Sne/lg
" e s ldnH?
é h:O Hrj‘aﬂ(é%BY}ﬁﬁ ’IXHTJ‘ t:ni
155,1@

3. SRR (AR AP TS AR R RR I %) =0 WL S A7 T AR AR A (0L 0) L TRALAE
T Casb) o CHLHTE AT T 2 A5 [0 LUR O o0 AT . G 3E% 6 T R G 245 10 KALLL
O o KAT LR SR AT P A R RBLET R A ) T

R BEAERTZ ¢ B KM TF 5 Cea s b) . ST 5 (o) y () R IE S A
A = a-+ vt

T AR 1] L. S (e O FE T AT D) 4 b O
b—y() = jfy[xn —x ()],
X

il
Cat vt — 2 (0] = $lo— v (D)
y
N S N =58 dx dy VI ALz v - N
BT R () A o AT R
dry* | rdyy\' s
(dz‘) +(dt) o
A
b 2 (2)
—
1+ (@)
L AQODE: IR DS WA N T X2
de _dxdy, 0 drdy
W, 4y t(b V) v dr”
159
dady,, |
dy2 E(b y) — Up. (3)

B (2 ACA B AF BT B AR etk o oo oy

9



10

®
dx\?
dzx: A 1+<@> (4)
dy? b—y ’
S A= U L S L TR AT LR A

x(0) =0,
{ (5
x(b) =a+ v T.

T 38 0] Bl A R 2ty () RN (5) =4 B W H A A0 T R % 0 1R IR) L H SR A
DA 3 &, ) WU s 29 .

4. PUEECH 50 T3 e BEAT L RR % 2k 1 &2 aU L HOR 3R SRR BRAE 8 %0. 0K 25 AR R £k K
R & p () RIEATATT BT 2 ¢ F237 TP A BUER , Fe ) N(0) =500 000. H A2,

dp(D)
dt

N
§5)

il

—0.08p(t) = 0.

XA T 0 3
p(1) = ce,
w1 E 4 N(0) =500 000,F ¢=500 000, T3 H
p(t) = 500 000e™",
¥ =25 A 15
p(25) = 500 000e” "% 2= 3. 694 528 050 X 10°.
5. R G AR S AERT 2] AR p (O BRI R 5Tk E D fiftghiw S 2
Z R L CLu ol B0k k) 2
D=a—0bp, S=—c+dp,
Hrasbyeod FIEREEEVIE NI R po - KEFZ] ¢ BF IR & B 45

R s
dpd(tt) =a—bp() Fe—dp(o),
Hp
di(,;” =a+tc— +dp.
[Fa) 5T P 3 fip 2

a—+c

_ bt
(O ce +b+d.

R p(0) = py FEATE c= p— 05 T

_ aJr")e—(/mm + a+tc

pm:(” bd btd

B B SK





